%(5 orctloms  (F=/l 230)

Dpere P 13

- T/;itf’ d(&&’zn Q




H(/\)ﬂzf SNQCD WJS 7%%/07/
leb WS/QJLCL \/e/é
‘Qwés O USV\Q‘

W 2 FCC)M\B =0en
owrten



: (

’i\@l

r‘ o V\{\t)( V‘/\
\

@ &

W

o

s
.
1OCS(C-

Ko

ok

Qv

ol
O«\LSY\V“Q/“\
c

@é?vt@“

\ O\Vi’-b
e
U ) 3
O\\'\i:z\fg\ On
ol
e
@@Mwe

-
Uere. &
Y
<
Him
ophvies







£ agd 200
W*@ﬁ\j@ﬁ‘( ‘C~\JJ—\]
west t F R (-1, ]
L( éQa\QAVe ‘t\ 4—@\¥ (L’ | Uj

0] ~Blol=]
@@1 + BUN=N



Se: UJ]/L&{‘\g G u™ Sesmonr !
QIC\%\ @%erf 7







E&Su‘ \ ’lﬁf EpIiTDIsTANCE(A[1..m],B[1..n]):

for je—0ton
\DGSQ’Q/ Q Edit[0, j] « j
L@ fori < 1tom t/—\/%“‘&a
—1

forj—1ton ‘]i) (%)
ins « Edit[i,j—1]+1 \DOHE(V
Q\\\ del — Edit[i—1,j]+1
) ifA[i]=B[j31 [ ] b
rep «— Edit[i—1,j—1 4 —
else 4‘
rep — Edit[i —1,j — 1]+ 1 AT S

Edit[i, j] « min {ins,del,rep}

return Edit[m,n] f‘@"@
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SuBseTSuMm(X, T):
if T=0

return TRUE
?7; elseif T<QorX =g
\ - return FALSE

((Does any subset of X sum to T ?))

else
x « any element of X
—7% 7 M « SUBSETSUM(X \ {x}, T —x) ((Recurse!))
~ wout < SUBSETSUM(X \ {x},T) ((Recurse!))
& return (with V wout)
—

((Does any subset of)f[l W 4 gum to T?))
SuBseTSuM(X, i, T):

elseif T <QOori=0
return FALSE
else

with « SuBserSuM(X,i—1,T —X[i])
wout « SUBSETSUM(X,i—1,T)
return (with V wout)

if T=0 9 -
return TRUE

((Recursel))
((Recursel!))
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FAsTSUBSETSUM(X([1..n], T):
S[n+1,0] « TRUE

fort—1toT
S[n+1,t] eFALSEJ&//_\
.y -

for i « n downto 1

"S[i,0] = TRUE
fort «1toX[i]=
= g
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Cost(T, f[1..n]) = Zf[ ]\+‘§ff[] #an n left(T)
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0 ifi>k
OptCost(i, k) = OptCost(i,r —1
F[i,k]+ min P @ )

+ OptCost(r + 1,k)

i<r<k

} otherwise

OpTIMALBST(f[1..n]):

S’O ( INITF(f[1..n])
~ fori—1ton+1

h . .
OptCost[i,i—1] <0
ford —0ton—1
forie—1ton—d ((...or whatever))

CompuTEOPTCOST(i,i + d)
return OptCost[ 1, n]
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